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QUESTION 1

The Warehouse.fmb module contains two data blocks. You want to display items from each data block on separate
content canvases. You must ensure that both content canvases are visible together at run time. 

Which two statements about content canvases are correct? (Choose two.) 

A. A window cannot display more than one content canvas during a run time session. 

B. A content canvas can be associated with a window by setting the Window property of the canvas. 

C. Two or more content canvases can be displayed by associating each of them with a different window. 

D. A content canvas can be associated with a window by setting the Primary Canvas property of the window. 

E. A content canvas can be associated with two or more windows by setting the Primary Canvas property of the
windows. 

F. Two or more content canvases can be displayed by setting their viewports to be smaller than the window with which
they are to be associated. 

Correct Answer: BC 

 

 

QUESTION 2

Which three statements best describe a Ref Cursor in Forms Builder? (Choose three.) 

A. A stored procedure that uses a Ref Cursor can be used only as a query datasource for a data block. 

B. A stored procedure that uses a Ref Cursor can be used only as a DML datasource for a data block. 

C. A stored procedure that uses a Ref Cursor can be used as both a query and a DML datasource for a data block. 

D. A Ref Cursor is ideal for queries that are dependent only on PL/SQL, and not SQL statements. 

E. A Ref Cursor enables you to query multiple tables and encapsulate logic in a PL/SQL subprogram. 

F. A Ref Cursor is used by a stored procedure to return data to a data block. 

Correct Answer: AEF 

 

 

QUESTION 3

View the Exhibit. 

You are coding a trigger (shown in the exhibit) to display the database error that occurs when users encounter the
FRM-40505 error about being unable to execute a query. You have created an alert called Query_Alert. For the
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FRM-40505 

error, the trigger should display the database error message in the Query_Alert. For all other errors, the trigger should
display default messages on the console message line. 

Examine the code for the On-Error trigger. When you attempt to compile this trigger, you receive a compilation error with
the message "Error 215 at line 2, column 4: String length constraints must be in range (1..32767)". 

What corrections should you make so that the trigger compiles and functions properly? 

A. Eliminate the n variable because SHOW_ALERT does not return a value. 

B. Change the n variable to a NUMBER data type and change SLQERRM to DBMS_ERROR_TEXT. 

C. Change the n variable to a NUMBER data type, replace SHOW_ALERT with FIND_ALERT, and change the line
beginning withSET_ALERT_PROPERTY to SET_ALERT_MESSAGE_PROPERTY(\\'Query_Alert\\',SQLERRM);. 

D. Change all occurrences of error_code, error_type, and error_text to message_code, message_type, and
message_text. 

Correct Answer: B 

 

 

QUESTION 4

A user has requested a change to the Summit.fmb module. The form has two windows, DEPT_WIN and EMP_WIN.
DEPT_WIN is always visible to the user. However, EMP_WIN is only occasionally required to be open. The user
complains that once EMP_WIN is open, it is not possible to make the window invisible. 
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The user can navigate between the open windows. You are asked not to write code to close EMP_WIN explicitly. 

What changes should you make to the Summit form? 

A. Define EMP_WIN as a modal window and set the Hide on Exit property to No. 

B. Define EMP_WIN as a modal window and set the Hide on Exit property to Yes. 

C. Define EMP_WIN as a modal window and set the Close Allowed property to Yes. 

D. Define EMP_WIN as a modeless window and set the Hide on Exit property to No. 

E. Define EMP_WIN as a modeless window and set the Hide on Exit property to Yes. 

F. Define EMP_WIN as a modeless window and set the Close Allowed property to Yes. 

Correct Answer: E 

 

 

QUESTION 5

There is a requirement to invoke the Orders form from the Customers form. Your colleagues offer some suggestions
about which built-in to use and their reasons for the choice. Which suggestion names a built-in that will meet the
requirement and offers a correct reason? 

A. CALL_FORM, because NEW_FORM is no longer valid for Web-deployed forms due to the extra network traffic that it
causes 

B. CALL_FORM, because it can be issued in Enter-Query mode and can be constrained to be "query only" 

C. CALL_FORM, because the second form is invoked in a modeless state and it saves on memory resources 

D. NEW_FORM, because the second form is invoked in a modeless state and the user can navigate freely between the
two running forms 

E. OPEN_FORM, because the second form is invoked in a modal state and there can be only one "Open form stack" 

F. OPEN_FORM, because it causes a savepoint to be issued and the current form is validated before invoking the
second form. 

Correct Answer: B 
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